P-1

Q (2)
PART -1/ %M1 -
CHILD DEVELOPMENT AND PEDAGOGY / et farer @ IR0 o
] §30)
Directions : Answer the following questions ﬂ#'ﬁﬂmmfﬁﬁﬁgﬁf
(Q. Nos. 1 to 30) by selecting the correct/most #immﬁﬁ
appropriate options. o3 A SR
1. Which of the following constructs does 1' mli"imh'ﬂ;mgmmﬂmﬂﬂm“
to Education Act, 2009 advocate 7
= . , {y/mhﬂﬁﬁﬂ
{13 Inclusive education
@ Segregation = Wm
(3) Mainstreaming @) e
(4) Integrated education @) g
the philosophy all 2, e & s ed ae W TS
i v ,:“th: right 1o ::Iﬂ firafir Rrrery s # war fveT T
WA w1 St |
education In a regular school system.
(1) Mainstreaming (1) e v
(2)  Special education (2) T i
(3)  Multi-cultural education (3) wge-wresiiw fin
3. Ateacher should - 3 ow s i fs
(1)  promote students belonging to (1) “mﬁ“ﬁwfﬂﬁmﬂuﬁ
certain cultures, wagEd |
(2) igoore cultural differences apd | ﬂ}ﬂﬁmﬂhﬂt“.f
diversity amongst students f’ ;ﬁ:mmﬁﬁﬂmﬁw
(3) MM#mm i A
ves Al cutwes in e | @”“F‘ﬁﬁiﬁﬁ;nmi
classroom, 5|i§|ﬁ|‘i|q;|-
(4)  maximize ; iy,
Opiions amongs W =
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(3

Children learn effectively wheg

(1) they memorise facts given in the
textbook.

(2) they cOpy aNSWETS written by the
teacher on the blackboarg,

(3) they sctvely participate in
different activities and tasks,

(4) the teacher fully controls
everything that happens in the
class incloding the children,

Children should
in the class.

(1) be discouraged to ask
(2) notbe alowed to ask
(3) be sopped from asking
{4) beencouraged to ask

Which of the following is NOT a key
process through which meaningful
learning occurs 7

(1)  Repetition and practice

(2)  Instruction and direction

(3) Exploration and interaction

qQuestions

{4) Memorization and recall m

Which of the following represents the
correct matching of children in
column-A  with their  primary
characteristic in column-RB 7
Column-A Column-B
L Gifted a. Lacks reading
fluency
b. Can think of
original solations
Tendency to get
distracted easily
iv. Attention d. Ability to learn
quickly  and |

Q
4, et ol W & o oy -
(1) & IR § Ry my et W
st 5
@) o R T e § g
mﬂﬁﬂmmhr

) i % 4 99 aweh wft wzned
7w %l v @ P s

5, wEIw iy -
(1) qu i for weiteenfive s =nfe |
(2) B o gt ot 2t i |
(3) O @ T e |

M#ﬁwjﬁ'ﬂmﬂ I

6. Frooiee i 3 ¥ ow gev s 2
& freris v s e wfer gk 7
(1) T S
(2 P EaEee
(3) A e et fiwa

(" Vi
7. Frcfefem & @ ¥ o we-% & =i
: wi w-w § I yrafies Pt %
wft e W e ek 7
-5 w-a
i a. ORIV WA §
ik
I Ffiem b. ¥ e & Wit §
S aaaeml
L. goRas < \c. R d fafea
Lah ok oh B
lv. FEaE i d v @
Fvafirmm w0 dra
wftnrn L
(ADHD)
il W iy
V‘ﬂ’i d a b, ¢
2) d ¢ a b
3) a2 b d ¢
4 d ¢ b a
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11.

. (4

iy
ﬂfuﬁr_._uﬂ

b0 dg
2y are 4 epested penctics

K
B ape inag

1) shauld e

(23

(4) should be undertaten us 5 sepaare

-ﬂlgﬁaﬁ;*l

(1} passive and indivicualistic,

(2} the process of acquisition of
knowledge,

{3) = change in behaviour as & resul;
of experience,

_Hk.”- EEEEEEFFEIE.

_ When teachers have poslthve bolisfs

abont students and their abilities, the
students —

{13} become relaved and stop puiting
in any effiorts to leam,

{23  become demotivated and siressed,
{3y  are not affected in my way,
{4) wre cager and motiviied o legm

[ e

_
|

P4
B, et o it
(1) wn-am sres %ot & forg vy o
A g i |
2. wfm = ww wm ¥ omw o
Tt 3w il 40 B
(Pt it & wri § |

@) wifr wht § v Rl
Ly & 8

- —
0y - ity wiew w % am
¥ i |
(2} e ot vl & i |

SRR R R S p——
st e

, 7w amm i &
\\”_f_.. bt

(1 T e % g, s
P——
@ e i e o
n.ﬁw\..ﬁmifq#ﬂd!.ﬂan]gm
T TS i o e

@) TR BB v i v

1. ﬂ?lﬂ.m#-imiﬂ_n
5 oo e T
(1) PR 8 o e et o

it = g :
W gglﬂﬂ

2) W T R

o g v s e
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14

A teacher can encourage children to
become effective problem solvers by -

(1) giving them  pleny  of
opporwmnities 0 answer similar
kinds of questions from the
texthook.

(2) emphasizing on rote memorisation
of the information given in the
textbook.

(3) encoursging children o make
inmitive guesses and to look at
multiple solutions to the problem.

(4)  writing step-by-step solution to all
the questions in the textbook.

Use of methods where learner’s own
initiative and efforts are involved is an

example of - ©

(1) Deductive method-

(2) Learner-centered method
(3) Traditional mathod

(4)  Inter-personal intelligence

What principle does the following

highlight 7

“Students who do not perform well,

feel that they are not ‘good enough'

and feel demotivated. They are then

likely to give up easily without trying

or persisting in doing tasks.”

{1) Cognition and emotions are pot
related,

(2) Heredity and environment are not
scparable.

(3) Heredity and environment are nol
related.

(4) Cognition and emotions are not
separable.

*

b

——

T % 3 firg 4 v
} TR e s |

k FORI 0 w1 T T 2 |

@ =il W Hﬂwﬁfiﬁﬁw

. A WIR W w-faeed S
hi#ﬁqmmh

4) TS & oft vt % st
ail® | o R |

wy il i weir & frefeff o =
e u v witer §, e & @ feww
wmn K 7 3

(1) T fafy

(2 sl i fify

(3w fafy -

(4) ﬁmgﬁ:

i vt i e o fovzir et
“at framef? arem weis W = o , &
mege w0 § % & ooty v @ ol ol
§ 3t wivefis e s K | o
fir wa & R W et A ey AR
Wk

(1) ¥ v e i

(2)  SAETERD vE e sem i g
ﬂ;m&d&mqﬁmﬁnﬁiﬁaﬂi!

(4) WA TE G e

Q
" “mﬂﬁMHiMw

£0 T8 ATRTRRTLETS B\ T Ee—
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17.

18.

19.

ich of the tol]m.-lnu ts the primary
3] &hm.fmnl”f
)
(3) M:di,e:nm‘m
{4} Fﬂmiiy
major prg
I'I..ﬂ!! l‘.'h position of Jean
(n m:l that - ]
adults thinking is superior to
2)  Children's thinki
& e, i
Idren’s thinking is qualitativel
M it by qualitatively
(4)  Children’s thinking is inferior to
adults,
Gender is a/an -
(1)  psychological entity
(2) social construct
(3)  economic concept
(4)  biological determinant
Which of the [ollowing mﬂﬂl}'
identifies the broad domains
development 7
{1) Emotional; intellectual; spiritual
and self
(2) Physical; personality; spiritual and
emotional
(3) Social; physical; personality; self
(4) Physical; cognitive; social and
emotional
Which of the following statements
about Intelligence is correct ?
telligence is @ relatively
(Y, I8 t nhanm: in behaviour as
a result of Hpﬂﬂﬁ i
Intelligence 15 tary trait
i involves mental activities such as
memory and reasoning.
3 Intelligence is multi-dimensional

geveral abilities not

invalving

antirely “:fsurﬂbh by
mﬂﬂlsﬂﬂﬂ

convergently.

17.

9.

® 4t

@) tﬁﬂﬁmﬂn’lﬁﬁﬂmti

e -
(1) wwTEAmEEEEl

P s wrtas sean k|

@) = it s d )
@) o s Ptk

P # 3 oW fww % =ow
mﬁﬁmqﬂnﬂmt?

(1}
@)

3

P
s % wit 3 P vl F 2 o
w7
(1) sﬁ 313‘“ % gfomm % wy §
Ll
wfmhtl

w2 T el e & fit
urfe ittt 6 o 7%
i‘rﬁrﬁl
'!-mm t Pl w2
M*W‘E‘mﬁuﬂﬂﬁ
arcft = i witve ¥ )
(4) !&Mﬂ#ﬁhﬁﬂi‘mh

(2)
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20

I.W%—eﬂ'ﬂﬂﬂwmmm

peen a5 =

(1) passive imitators
(1) active explorers
(3 blank slates

(4) miniature adults

Mtnl.ﬂ ‘FMi hllﬂl’ll
s =

(1
(2)
E))
(4)

an individual activity
a passive activity

a conditioned activity
& social activity

Which of the characterizes
a child in the preoperational stage ?

(1) Goal-directed behaviour
(3)  Irreversibility of thought
(4)  Circular reactions

Which of the following staiements

regarding children and their learning
is correct 7

(1) Children’s motivation to learn and
their capability to leam is pre-
determined by heredity only.
Children's sOCio-economic
background determines and limits
their motivation and learning
capability.
Children have to be rewarded and
punished to make them motivated
for learning.

All  children are paturally
motivated to Jearn and are capable
of learning,

(2)

(3)

(4)

(el

20,

Q
mmi!ﬂﬁ
27 foeer ow @ R

(1) TR et &

oy R S e

@) w &
(4) BRI HEgy

21, o AR & e st -

(1) v safe iy &
@ v nffair g
(3) O arEitm nfafafa

Ly T w TR g

n. Al § 2 W @ o e

3.

mmtﬁﬂrhﬂhmﬁ
(1 =e-Fadfm s
@) Fwifim s

(@) Tl s
@) = whafiem

= 3 T Fiem % et #
mmaaﬁth

(1) Iﬁﬁlﬂhﬂi%h-ﬂﬁhmm
diu & o T
gt & g g P d |
o 6 A -t oy
6 o e v
foffe s fifm s
w=| % wftrm ¥ e e % fo
[ E fm wm m |

wdt wt e & forg T =
3 e €8 e s s

2

(3

4
-
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25wy sy it wewm % v 6 T

wohth, swwgh d 7

{1y e Wl

(2 B

() W e

facvimen
v 4

26, According to Jean Plaget, childres - ﬂ 6. o Pk e, v -

(1) learn by observing othéms
following & process  of
observational legrning.

(2} cam be conditioned to behave n

particolar  ways by carefully
contrelled  stimalos - respomse
i3 can be moght to bebave asd leam
in specific manner wsing principles
of rewards and punisiment,
(4)  actively coostruct knowledge as

they manipulste and explors the
world.

(1) ewwwE wiew B whem w6

FEH W A T W
F wrn
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27, e waw 9w o) A v
ﬁilimﬁmﬂmuﬁli?

(1) safeema wm
(2) Wi Al

(3) R T
Sy SR

5 R, TR @ vl ey e,
sty S v e d 7
1y e syt
@ Ffm
(a) Trlen d WEH

2, T S ST § 0% W= 3
ot v o & '
(1) It 3w S |

ﬁ (2) R e e e |

(3 it '.E‘m gy FH
TR |

() ﬁml_ﬂlﬂml

A B AAE A B 4T YN —

m = %

==

30, e wey o e e i e 6t ek
6y vl ol et W (T T S R

i o g e e & R @ e e 3
I iﬂhmmlﬁaﬁtm
e s Tm 6 firw s & 3

’ mﬁﬂ '

Je) amfrs-wm frim sffeam
) T e S
(3) mﬁmmm
(4) T g wivfEE
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PART - I/ WFT-1I
MATHEMATICS /
oM < Anewer the folloving questons by B : Aol st & e 8 & R
"& the correcy/most appropriate options. /T oy ey 19
- WMmmmnﬂd 3. wwafim foem @ AN S w6
mhuhﬂmﬂn:rm ﬁ"‘ﬁ:lﬁﬂrmﬁﬁ
"-] Use ajlm y .
methods mﬂn’ ":;m, i (1 ~aftrm  #® Awiouw
- sorifra] i wret T e |
%) Send them to special eccatr (2) 3% fri fvers % v BT |
¥ mmm“‘“m 3) T 3w & fg afifes T
' & |
3w
L. A 'ﬂiﬂ-l]] sinden :
uﬁﬂ“ﬂﬂmnluuzs.:;mun: %% m;*milﬁxﬂﬂﬁw
I6x25 =8x2x5x5 VER T |
=BxSx2xs 16 x 25 '=:r:x£:¢5
=E8XIxIug
=40 10 m e
= (i) s
Which property of multiplication :
the student used In this question ? :Fw;;‘f;'ﬁ;tmiwt
(1) Associative law " L
(1) Repested addition @ ﬂ:lil
(3) [Inverse multiplication Jaw @ R Ii i . ,
(4) Distributive law ﬁﬂtl]' ; 4h=m _
SPACE mnmmﬂwm:mmm—-___
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()] Measurement

(4) Classification

Which of the following statements is

true mﬂl‘ ‘Nomeral’ and

‘Number' 7

{A) A numeral Is a symbol used to
represent number.

(B) Same opumber cam  be
represented by different
numerals.

(I} {A)is correct and (B) is incormect.

{2) (B)is correct and (A) is incorrecL

(3) Both (A)and (EI}'EML

(4) Baoth (A) and (B) are incormect.

Which of the following is not a
mathematical process 7 g7

(1)  Visualisation
(2) Memorigation
(3) Estimation
(4)  Transposition

(11)

33, Toreaforfo 8 & wy
o et Ttk

(1) = ey
S

(3) ¥

(4) iU

Wit i Hweon

g 3 O % iy # P
CER ekl g f T

(A) WO T Wiw & i den w
rm“*ﬁ*hﬁmhrm
|

% o W faftw seniet g
mﬂhﬂmarmtI

m (A tshe) g

2 ®muEtsda g
) @) Rt

@ (A @) Ed

(B)

38, Frfeia § & 9 w wfteia we
L&

(1) A
é,(;),, FIE T
Lok

(@) T

SPACE FOR ROUGH WORK / 7% T8 % 9T W78
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36.  Read the following word problems o0
addition ;

A, There are 15 oranges In one
basket and 17 oranges In
another hasket, How many
oranges are there altogether 7

B. The price of a meobile phone
which is for € 9,950 is Increased
by T 375 after bodget. What Is
the new price 7

Which of the following statements s

correct 7

(1} "A' represents ‘aggregation’
strocmure of addition whereas ‘B’
represents ‘augmentation’
structure of addition.

(2) Both represents  aggregation
struciure of addition.

(3) Both represents augmentation

structure of addition.

(4) ‘A" represents augmentation
structure of addition whereas ‘B’
represents aggregation structure of
addition.

Ak el ?

AR i w2

() A' @ e HOE W
wefifn wen & 3w BT 9
s e ) e e |

@) 3 & Im B g w5
v w ¥ |

Waﬁﬂﬁmﬂm #
Wit w ¥ |
(4) 'ﬁ’ﬁﬂﬁ“ﬁqmm

Y B B
mﬁﬂﬂhmt.

SPACE FOR ROUGH WORK / T %1% % forg oy~
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k. 8

volume is
grasped before conservation of
mass.

(2) Conservation of Weight is grasped
pefore conservation of number.

(3) Conservation of length is grasped
before conservation of number.

(4) Conservation of weight is grasped
before conservation of volume.

A teacher gives the following task to
the stndents of class-IV :

“Arrange 25 tiles In all possible
rectangular arrays.”
Which of the following mathematical

concepts can be addressed through
this task ?

(1) Area, factors, perimeter

(2)  Area, perimeter, volume
(3) Area, volume, length
(4) Volume, area, length

(13

Q

mﬁﬁuﬁriimnimth
# wft Tafg |

(1) S W ) o g
HOE W I A

(@ R F T R T Gwni

(@ e 3 s 6w we &

(@) A o &) g s
T U i |

TF NYE HE IV % Wl W
frefofan s dm d .

«28 T ! Tt Wre SR s
wpEfam W P

v o & Prafidin § @ @ afedr
SR R it e sk

L, T, R
(2) e, SR,
@) S S, T
@ mﬂ Ll

SPACE FOR ROUGH WORK / T% T % fq WTF
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(4)  Trial-eror, drawing, memorisation

40. "i"-ll]d:':luehrdu-ntnﬂﬂm
the development of

(1)  Place value
(2) Geometrical thinking
(3}  Fractons

4) "Hlﬂhrm

(14)

B

P-1

. i vt # 4 W 0 70 3
w2

(1) feie won, @8 @ @ w1, ©
AT |

jl-,mm,ﬂﬂmﬂr
e du |

——

(3) ow W, FAH TR T
w1, T e |
@ we-af R, R o, S

WA |

. W % v R 6 s
web R f,

(1) TrmEe
'/BL sty faey
@ fim

@) Fwn i e

SPACE FOR Eﬂﬁwm ITE®E thm ___________________-__‘
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41.

hrﬂ.mmmﬂwﬂﬂﬂf
2005, Primary School mathematics

curriculum shoald

{l} rmusﬂn FI}L'EI:I'I.ITB.I h].ﬂ“"lﬂdgt-'

(@) provide rigoar in mllin:mnncal
concepts
mathematics.

(4) relate to children's everyday
n;pﬂjﬂnﬂﬂ.

Which of the following teaching-
learning resources is best suited to
nphinlhaumuptnfmulﬁpﬂclﬂun
of two decimal numbers say 0.3 x 0.2
=0.06 ?

(1) Taylor's abacus
(2)  Number chart
(3)  Graph paper

(4) Dienes blocks

(15)

i

Q
41. ﬂﬁ" m Lol witan m-mﬁ‘}

2005 W WgiEn R
Wikt
(1) FERRE ym @ gy b
=R |
(2) TR SRR 4w B
=TT B w1y |
(3 OE W T vfw % fm daw
| W ST i |
ﬁ;mﬂ%ﬁﬁﬁq#m%ﬁhﬂ
=iy |-

42, & T W EwnAl & e S e
03 x 0.2 = 0.06 % FEE B wE &
g Frefefsn & @ ¥ W fmm-
it o IRt 2

(1) w1 A (Taylor's abacus)
(2) TETER

e

) Wm {Dienes hlocks)

| ==
SPACE FOR ROUGH WORK / 7% S % ferg =18

Scanned by CamScanner



Q ' (16) P
4. Which of the following Is pot an 4. wrs v w frafia ¥ e s
effective strategy to assess primary wl i W & frg Pefee & @

level  students’  leaming In W # st o T 8 7

mathematics ?

i , (1) P ) et # A T |
ooy s s e BT |
understand their reasoning,

@ Design i+ @ M sl B afwega 6 WY
Mm::k:fmmm‘ : fart v @ ftrs T % I90 W

- response. Aot ¥ .

sing i 2

(4) Designing tasks 10 differentiate
mmllunhm )

e Fw i aws | e
4. Which of the following is poi

ﬂm‘lﬂﬂhﬂ:ﬂlﬂ'ﬂcﬁwmuu: ""l- m Mﬁm“ﬁi

it ﬁﬂﬁlﬁuﬂﬂﬂiﬂlmzﬁh

M Folloving sttt s when | (1) H#ﬁmmmwhaﬁth
introducing a new cog m :%ﬁ!ﬂﬂmﬁm

()  Focussing patterns of students I

G Making  comections  ig, ] o |
’ everyday experiences, ) Iﬁ.ﬁ:r * T % T Ty
(4)  Using various teaching.Je l Wﬁﬁm‘”

strategies for a single concepy, @ T 8 %
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PI
45, In a school, half of students play

badminton, ome-fourth (1/4%) plgy
volleyball, one-sighth (1%%) play
tennis, one-sixteenth (1/16%) play chess
and remaining go for swimming, If the
number of students playing volleyball
is 160, how many students play chess ?

(1) 120
(2) B0
(3) 20
4 40

__r.l'

4. ﬂnmqmmmmsg ?
W 7s
2 72
(3) 35

(4) 68

(17)
45, T T H, m“"ﬁ'ﬁmtﬂ

mwmmi.mtﬁqm
l:-ms“mﬁimmm

lﬂ"fﬁi’ﬂ'r.lﬂ_t,-mm“m
¥ 7
oo
(1) 120
(2) %0
@ 20

E 46. :s-i-ihiquhh
ABTs
2) 72
(3) 35

(4) 68

SPACE FOR ROUGH WORK / 7% ™79 % {17 9Ty

7% P e

L
?f/q, .

90 yord <

"*‘ﬂ”{i
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Deepa goes o a posi-office o
post/mall letters and parcels. The
posial rates depicted are as below :

(18)

Letier Weighing :
{) 20 g or less - T5.00
(i) Perevery sdditional 20 g - ¥ 2.00
Parcel Weighing :
() 50gor less - T5.00
(i) For every additional S0g - ¥ 3.00

weighing 250 g and 300 g respectively
&nd two letters each to 20 g and 35 ¢

respectively. How much postal charge
does she have to pay ?

(1) ¥48
(2) T30
(3 Tdo
4 T4

P-1

. sEta, 3, 4 67, 8 W Pt RE

ot i wafeya R €

— =

- pE—— p——

a—— e
(1) 1605

@ 1560

(3. 1308

e

2 v wwar # W S T w @
3 % g ot § | 59 6 W TR
R Hrmil:

TR :

i 20mWITEF - T500

(i) wes ARG 20 M. - ¥ 2.00

. S -

TR 1 W ;

M SOMMIEEST -

(i) wrtes wffes somm, -
% forg

Wﬁmm:mm,mmm

¥R & 0 3 v W 20 7, ol s,

WK & S e
g bbb

(1) 748
(2) Tag

T4
4) T4

T5.00
T30

SPACE FOR ROUGH WORK AL e——
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49.

Which of the following statements is

true 7

(1) The durstion of Journey from
Nagpur to Chennai is 15 hr.
10 min.

(2) The dumtion of Joumey from
New Delhi to Nagpur is 11 hr. 30
min.

3) The duration of Journey from
Bhopal 1o Chennai is 21 hr.
40 min,

(4) The duration of Journey “from

Bhopal to Vijaywada is 13 hr.
10 min,

wrqme 2358 0:05 e

TR 05:25 05:35 ——

T 14:15 : 14:30 |
L 20:45 m
it m s ey o

(1) MR & <= 6 9= =
156 10frew g | |

(@) =% fewsh B T Y e w1 "
115 0fre sl

@) W @ I H T o= o
TR OtmwY

@) v A R 6w
13u 10 fmewk)

SPACE FOR ROUGH WORK / 7% %7 % fove weme
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Q (20) P-I
’L““ﬂ'"“h'!:hm-wﬂ Sl Profsfen vensl & o @ v
descending order of numbers ? St o w1 e ot § 7
{1y 305, 3,50, 3.055 3.05, 3.005, i
0.355 L gﬂﬁs 3.50, 3.055, 3.05 3.005,
B 2 5 "
(2) 30.5, 350, 3,05, 3055 3.005,
0.355 ; (2) :ﬂ.s. 350, 3.08, 3.085 3.005,
(3) 30,5, 3.05, 3,055 -1.50, 3.005, b
0.355 ) .ﬂ?& 305, 3.055, 350, 3.005,
) 305, 3005, 350, 3085, 305, " |
0.35% ) ggig 3005, 350, 3055, 305,
5. A shopkeeper mixed £3 kg of 52,
g b L R
equally into two dozen ,:m What T P - 2 ok S
i the welght to each packet ? W R | v e
(1) 400g 4 400mm, S.
@ 450g @ 4s0m. _1;3
Ijl 500 g (3) 500, j'__n,_ A
(4) 300g () 300 f’i;..{'
53. A beaker
1.;?_2?*”':'“:”' ésa. w6 Wi & 7w e | e
the besker to its brim. What is ﬁ TR T @ & s Loarh o
capucity of the beaker 7 mhmﬂw.ﬂ.‘t?
iy soL (D SoL
(2 100L {2) 100L
@ 2L A 8L
@ 14L 4) 14L
1
SPACE FOR ROUGH WORK / 7o 74 & v iy -
]
_—_—__ *
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Q
54, mﬂtiﬂii
S T
old ﬁwﬂw‘ to buy a i”” ﬁh.uﬁ“mtlm“
e phone. Every week she saves “‘i""'.':ﬁ'-“xMﬁnudk
¢ 50 on Monday, ¥ 100 on Wednesday Wﬁ‘“mﬁ'mﬁrtﬂ
und € 80 on Friday and spends ¥ 60 AT RNy 30
o fhis on Sunday. How many Hm‘lﬂﬁtﬁqm
weeks would she take to save enough wolterfiy. i
of T 59507
to buy s mabile pbone (1 35 &0
(1) 3 b5
{2y 30 @’ﬂ
@ 30 a0
(3 40 % = ti =
» G @ 25 f\:ﬁ
P :
é'la
55. What number am I 7 ﬂﬂﬁﬂﬁ!ﬂt?
Iam & 2 diglt even number, & 2 siwt 1 ww ww |
Tam common mmultiple of 3, 4, 6. 4 1‘?-r“-"i"".""‘J:""‘!.'
Ihave
total 9 factors. v 9 e |
(1) 56 i |
(1) 356
(2) 24
24
(B 36 ®
4 48 S
& s I,y i‘, ti“} F!QP?H

SP,
ACE FORROUGH WoRK /T T W g T
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Q
56. The side of a square s 10 cm. How

many times will the new perimeter
hﬂﬂﬂﬂ'ﬂlt!lﬂlﬂ'ﬂemh
doubled ?

(1) 4 times
(2) 3 times
(3)  2times
(4)  Remains same

both horizontal and vertical lines of

symmetry ?
(1)
@
@)
(4)

> = N M

(22)

T

P.I
56. % wh o 9o 10 em & | ot wf o
P o o e o
W 7
aler Y-
(1
A Vo Wk
2) 37w =
i 2w Ya -
) A bWl
o emy B2
57. Peffm F @ fem oo ¥ dfvr afic
saiwcehf Sl Rt
ny"x
@ c
f)’ Y | \\
4 A

58 0 (11011, = (), then -Hﬂ- M (1011, = 'f_._l,.t,‘-:‘lfm

number in the blank space is
() 27
(2) 30
@ 33
4 22

mimt
1 27
{(}} 30
(ﬁ"!«‘.’-

@ 2

SPACE FOR ROUGH WORK / T% % % g oy
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[C}EH“WM

(1) (AL (C) (B
@ (B),(C)(A)
(3 (Ch(A)(B)
4 (A (B

6, Tx28=3xdx
The number in the blank Is
(A) maltiple of 7
(B) a prime number
{C) less than 10
(D) an even number
(E) factor of 56
Which of the following Is correct ?
(1) (A), (D), (B)
2} (C), (D) (E)
(3)  (A), (D), (B)
@ (A)®B),©)

f—

(1 (A)(C), (B)
(3 (O (AL B
) (A, (B),(C)
J:T'

60. T2xWB=36x4x_"Ty¥
e v i ww
@ TEE
®B) I wEh i
© wawmt X
@ vswAESTY)

E) S6% TraEd |

L

frafafmdd wRa it

(1) (A) (D) (B)
(2) (C) (@) (E)

(A), (D), (E)
(4) (A), (B} (C)

SPACE FOR ROUGH WORK / 7% %74 % 91T o8
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Q
PART - IIl / wwr - 1T
ENVIRONMENTAL STUDIES / qgiavoT sera=

Directions : Answer the following questions by

selecting the correct/most appropriate options.
61. We all observe old wells which have
dried up. Our elders say that about

25-30 years ago there was sufficlent

mﬂmhﬂmwﬁmhﬂ

up. Select from the
following the possible correct reasons
for drying up of water In the wells.

A.  The lakes (ponds) in which rain
water used to collect are oo
longer there,

B. Th!-lllll'ﬂnndﬂlln‘:ﬂ,mﬂ]
and nearby area is now covered
with coaltar/cement.

C— Hﬂﬂtmm"mm
taps in every house,

D. A oumber of electric motor
driven pumps have come up to
draw underground water,

(1) B,.CandD

{2) CDandA

(3) ABandD

(4 A BandC

(2) It is a good tr.m:hmgk,m;
stralegy.
(3) It is for decreasing the syllabus

load.

(4) Syllsbus of EVS has been
prescribed as such by CBSE,

63, In which one of the following cities the
called

mountaine of sand
Dunes™ are found 7

(1)  Abu Dhabi
(2) Bedin -

(3)  Thimpy
(4)  Kabul

“Sand

Ay ; Bt e & w8 & I

o e TG T JAT
61 m ot g ol w2 & o oW g
wf I eReE e § 5w R
T 25-30 WO TER W FI § H!
o, wgawig g
frcftr § 3 37 & @t & SR
Wt SR g
A. ﬁﬂﬂkﬁ{lﬂlﬁ)ﬁﬂmm |
v e o gt T |
B. ¥, woif ot smw-m & dt )
:ﬂhmuﬁmiﬂﬁzinﬂ
I
C. % wrw I5 Tl woon =51
W dfeat et § ) g
D.  wfiew et W ol & Ry wi |
g A wftm s g § |
Pr B.CaiD
B @ cbska
(3) AB3kD
4 AB3lcC

@) R, &2y

N o
gy Ry T R 2 i

63, ﬁﬂ‘l‘ﬂi‘lﬁiﬂﬁn“ it
ek A 2w, dobabty
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(1)

(2)

cavironmeot (3) o & goen # o s
} heme based EVS transaction is yuferer HeEEE W1 HIGT W
3 easy as compared to the topics. L 4 .
i i e I § TEl W
(&) Forreducing chapters in EVS. ) .
of the following is pot one 65, Prfofam § ¥ W @ waA o
* :t::uudthmutmmu SR T % : e ot f @ T
present syllabus ? i
(1) Sheler (1) HA=E
@ Things wemake and do. Q- w7
(3) Work and play ‘ ﬂ'& ﬂ#aﬂtﬁm
(4) Food (4) WA
following H 66 Frefefam & @ w1 3l 0 & R
s ::mhjmmm“l::::u e sor i S api daw d
concerns () e & weitE T R
o ETN Wmh:u: | Funt = e w3 v &
Ilnsulg::ndmlhenﬂhﬂ mem gl
o 2y w1 3t I AT SO
@ Eviiu“‘:ﬂ‘;!?“ introduced ([’i R e
al the classes 1 1o
(3) Evﬂ“i‘llhjﬂilﬂﬂﬂll}rm (3) m[#ﬂi':ﬂﬂ“*ﬁ:&
R et L R |
(4) Issues and comcemns related [0 i I
oo meﬂkmmtr
language. ,

aphani® the environmental

n ion of the learners.

com

understanding  of
interrelaed
sspes of the  leamers® local

(25)

64. TR ACRR & urgmmy ¥ Q
WA wﬂmhwmt ot :I

(1

st 35 o o
fom |

(2) il % T 9w & i & oy
/;fmmmmq;M

¥ fomm|

—
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{26)
b 6. P & @ v g e

. Which one of the foll Is very
= hpil'll::lln MMHTW o e g e & 7
nEVsE - A wsiterwfien wefigRt |
Active participation of the :
= um: » B. weil % yw w sl & 79 R
B. Relating child’s knowledge with wHe | |
the teachers knowledge. C. i Few W wE 9N f
C. Learning EVS outside the four g & wme i | ‘
TRaT e o D. wail & vy ® freed ¥
D. Relating child’s local knowledge = & s {
to the school knowledge. b
) Donly (1) %EaD |
(2) Aonly (2) WEE A
(3) AsdDonly @ ¥awAshD .J
4 A.CandD yﬁ.c_m]—] 1
68. The most effective strategy to engage 68, R e # wl WY Ay 6 gwd
learners in EVS is # ot gfts & |
(1) Reading oftextbook (1) T 1 9ad
(2) Explanations by teacher (2) v gro wmETd |
(3) Classroom Demonstration L3 o frly \
(4) Namatives @) fawmtal {
1

69. Which one of the following Is ot true 69. F=ffam 4 @ ¥ -1 ™ wigm-

wrt EVS ? mtmiﬁﬂt ?‘
(1) EVS is based on child centred (1) mmmmm
, :

(2) EVS provides opportunities to the @ ey W S
learners to  explore  their Wmhtl
environment, . Gl TR IR g e

) i\l;iiﬂmphui:q descriptions and | jy@“mhtl o

(@) Nature of EVS isintegrated. " "R T
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conducting sctivides followed by

and discussions. The
jective of conducting activities,
:;uﬂ,,,..ndmun_

Assess the children's process

2%

g, Provide an opportunify fo the
children to explore

Provide an opportunity fo the
mmmlhmﬂwﬂ

Discriminate  between  the
mmbﬂmthdrplunl

C only
B,Cand D

A, BandC
D omdy

(L)
(2)
K}
(4)

Children should be encouraged o tap
teachers in EVS. Why 7

A. Textbook and teacher are not
the only sources of EVS

B. It will promote the Involvement
of parents and communities.

C. It will provide opportunity to
teachers to know- the child’s

D. It will develop psychomotor
skills and sesthetic sense of the

(1) ABandC
(2) B,CandD
(3)  CandD only
(4)  BandConly

il ¥ 37 e ) iy % amm
w friee o |

(1) A C
@ B.C3RD
j-r’A.B*afhc

) ¥FAED

- § wsi
3l fmrnl % e o el 6 e
i forg sy s i 1w ¢

A TEmM-yuEE dwr & fag
:mls#kmmin
|

B. I wiww-yome del ¥ fag
et 3 wm-Rad @

71.

afeafi w1 fer WA |
C. ¥ figwi W weil 6y Wt
AR ST S A |
D. wy weil % ddm ol wh-
Firareeres whre w1 frere W |
(1) A,BaC r
) B,c3RD
.g.rhncaﬂtn"

‘@4 wmBIRC.
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Q
72. Which of the following should pot be
the Indicator for assessment In EVS 7

(1) Co-operation
(2)  Remembering
(3) Questioning

{4)  Concem for justice and equality -

73 In EVS, teachers should provide

epportunities to the children to assess
themselves. Self-assessment is
e —

(1) Assessment as learning
(2) Assessment of leaming
(1) Assessment for leaming
4 CCE

74. A teacher conducts an experiment om
“How does food get spodlt 7

Teacher makes groups of learners and
provides them material related to the

experiment. Why does teacher form
groaps of learners 7

A. It promotes peer learning,
B. It improves social Interaction.

C. Gromp learning Is effective way
of learning EVS withowt
borden.

D. Group learning Is an essential
strategy to maintain discipline
in the class,

(I} CandD only
2} AandC only
(3 BandDonly
# AmdB only

Pl
2. Pyefafun § @ welwr-see 1
e % fo wikn ! W wifRg 7
(1) g '
(2) WRFA

(3) WA
iﬂ"' Hmaﬁtmplinﬁmﬂm

73, i Feye § fimgs i g wsl w®
w3 W wmeen % fovg s A
wiftw | e

}Amﬁiﬁmm

(2) i % ST
@) o ¥ frg smwEm
) HrHLE

74. O fimgw, s feE TER & W wm
' t."ﬂﬁmm_tl
s weit & wE AR I W@ A
it wrntt ¥ & | v weit & g
wiwmhy
A, T ard sftery e s won
L 4
B, W wel € wrnfas infe i
gmwmh |

C. WTEHW‘EW
HAH W Wt
wwh)

D. W # Sw ) W T %

o wn # e
L3 T L

() #wcahp
(2) h’ﬂgmc

S wWEpalp
@ %A shp

;
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75

Which of the following is pot the

objective of teaching EVS 7

(1) To develop an awareness about
environmental issoes,

(2) Toengage the child in exploratory
and hands on activities.

(3) To encourage children 1o provide
textbook definitions.

(4) To outure the curiosity and
creativity of the child,

76, Picture reading is an important

7.

activity In EVS. Which of the
following  indicator/indleators  of
learners can be assessed through
plcture reading ?

A.  Observationand recording

B, Expression

C.  Analysds

D. Experimentation

(1) ABandC

(2) A nmnd Conly

(3) AandB only

(4) D only

Which technique is wsed in the rating
scale ?

(1) Observation
(2) Checklist

(3)  Assignments
(#)  Written question

{29

Q
75, fafufim § & O e FEEE W

AE 7
(1) mﬁ-::wwﬁ‘m
A |

2 R e e §
e o ) et @ HET |

M T s & TR
FeA W o Ty Wi |

4y W oY e i goETeTs
o] WA |

76, e Fore & fex v s g
e § | e # 2 S
RS W Wl § s fer
TR EEmy

A. aﬂ;ﬂﬂﬂmm
p. Sftufis

c.

D, T
dp.}.-—-ﬁ,ﬂaﬂtﬂ

2 ¥masRc

(3) FEEAANB

(4) %EED

77, Y v i i oft el v I g
LB
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Q (30) :

78. Consider the followlng statements 78, W At # srEmh R aeht wgfh & R
about the practices followed under ¥ it firg e et o e i
“Jhoom farming” :

A.  After obtaining one set of crops ol sl - o
the land is left as it is for some mﬁ!‘m“ﬁ#ﬂﬂ
years, Ll

B. The bamboo weeds which B wmﬁﬂiﬂﬂ
mmmﬂmpmm e 48 S e A
S Doy, C. wewmER () S W FEH W

C.  The ash obtained on burning the wTE T W Y O W A
weeds etc. is used as fertilizer. % ¢

D. When ﬂl: land is. ready for D. e o 3 e 6w o
farming it Is deeply ploughed wrr

:;::‘uﬁﬂm?ﬁm
nemwﬂﬁm wmt-’! ;

(1)  onlyD (1) WD

(2) BandC BalC

(3) AandD ﬂ _ /z“ AxRD

(4) only A yxg’haa

79, et widfia dm 7 S e w0 am

79, In a hilly area it was observed that the
people have built their houses using T T W 3 S W ey, R, v
stones, mud, lime and wood. These st v | 8 W v |
houses have two floors. On the ground e o e T T
floor they provide space for animals to WA Sty w0 v € | o
Mmﬂﬁumunmﬂﬂnp,nﬂ |- W‘iﬁ'ﬂﬂl‘[&t | =t i o wE
the first floor they stay. The roofs of wormer § e vl T o e e
the houses are flat and made of thick th“mhﬁhﬂh
?mmmmh-m m‘mt?

HJ " (1) Teer

(2) Himachal Pradesh «’W’ e

(3)  Jammu and Kashmir i
@) IETEE iy

(4)  Arunachal Pradesh

| e —
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g |
:IL It Is belleved that the animals that gpe

awike it night can see objects only iy,
green and yellow
orange and red

black and white

violet and blue

(1)
(2)
(3)
(4)

Earthworms are considered friends of
uut-mars.sclﬂtﬁ'mnﬂmﬁﬂhwlq
the correct reasons for the same ;

A. Earthworms eat the dead Jeayes
and plants and their droppings
fertilise the soll.

B. Earthworms eat the weeds and
save the main crop.

Earthworms soften the soil by
digging underneath.

wh.&mﬁwﬂu‘hhﬁu

(l) B,CandD
(@ CDandA
(3) A and C only
4 A BandC

Tribal people have been using bronze
to make many things since thousand
of years. Bronge Is still used in our
houses. Select from the the
most correct statement about broaze.
(1) Itis a mixture of copper and brass.
(2) Itis a mixture of copper, zinc and
aluminium.
(3) It is a mixture of copper and tin,
(4) It is an element like aluminium
and copper.

(31)

¥

Q
80. Il o 7 g A & i ow F A

yrt}mmiﬂtﬁhﬁrihi!.i
m
(1) w03 dfen
()  Trrft ot o=

wTen % 792
(4) Wt fv e

it =t FeRrt w o e o 4

yai fo Pt & & wft wwoit w1

e :

A e IR sl dnd w e E e
T W e et |

p. AU TR R § At g
e TR |

c. W N 7 vy v f Rl

#ﬁ‘i’mﬂl’tjl_mh
p. e T WR T RE Y Wi
e 8w o o frer s |
(1) B.cin
7. C,D3fa
o i
4 AB¥C

82. "~ wftamet Wl A o & R (i)

i vt e § | s ot e
w o fm Y | wR % e &

Uefirfrm w5 R k|
(3) wmath (sw) sl P Rk

@) Yt ok R ww) &
it o )

83. e welt i Rl it w0 % W e

BN s Frffm # & feg fx
favmty

() wffeq s

(2) fimw

(3 wheEg

P
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states has 2 coast on Arablan sea 7

(1) Andhra Pradesh, Telangana,
Odisha

(2) Kerala, Karnataks, West Bengal

(3) Tamil Nadu, Andhra Pradesh,
Karnataka

(4) Kaemataka, Kerala, Gujarat

86. Where Is Jharkhand located on the
map of oar country 7 '

(1) East of West Bengal
(2) North of Odisha

(3) South-East of Chhattisgarh
(4) 'West of Uttar Pradesh

87. Which of the following Is NOT
obiained from petroleum 7

(1)
()
(3
(4)

fegs

(32)

P
g4, Pt # & "l & 39 W W
g Al gt W R e &
(1) B, Mo, 5% W=t
(2) e, e, TS 9 R
({;); e, mmfirly, T S
faw
{:é Reeft, T Ll e,
e _
8. P et & it & & e @6
m%mmmmi_t
(1) 3y ww, e, i
ﬁf ﬁm,ﬁhm,ﬂﬁhﬂilm_
(4) weles, ¥, T
86. AR T e v et R 7
Mmtﬁi }——
@ afEmEamd
O e -
(4) mﬁrhﬁwi

g7, frefnfm & & v v & ww off
w7
() "W,
(2) 7

/w/ﬂ!m

4 How

—
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:_I A boy boarded a train on 30® June,
2019 at Madgaon for Nagarcoll. The
train departed at 09:45 hours from
Madgaon and reached Magarcoll at
07:15 hours on the next day. If the
distance covered by the train during
this time interval is 1140 km, the

average speed of the train was
(1) 353kmh

(2} 54.5kmh

(3) 57 km/h

(4) 515kmh

g§9. In ome of the forests of our country the
village councll (Panchayai) allots the
land to the forest people (Adivasis) for
farming ln a speclal unit called ‘tin’.
Whatistin T
(1) A land on which a farmer grows
one tin of seads

(2) A land from which a farmer
produces onc tin of seeds

(3) A it of land specially designed
for the farmers of the forests.

(4) A land with dimensions 100 m x
100 m

90, You are located at X and your school
is located at Y. There Is no straight
path from your house to school. 5o,
you first go to A which is 30 m due
north of X, then go to B which Is 40 m
due west of A, then go to C which s
30 m due north of B and finally you
reach your school at ¥ which s 40 m
due west of C. With respect to your
school the correct direction of your
house is

(1) Due South
(2) Due East

(3) - South-East
(4)  North-West

£, ﬁmmﬁwlamﬂiﬂm
Yo T | ) 0945wk
wﬁ'i‘“mﬂﬁrhm.lsﬂ
gt T | o v o e
m‘m“'ﬂ'“ﬁﬂllﬂ km R, @
i 3hEm 'Immit?

() 53 km/h

};J ':'3451::5111
(3 57 km/
(%) 51.5 km/h

m}ﬁm%hmmm
(e T O T s e
Fﬂ}ﬂﬁiﬁ’lﬂttﬁﬂﬂﬁ
aritk ek 7
i) ﬂlﬂhTﬂtﬁmﬁﬁ:
|
@) ﬂiﬁhﬁm&ﬁﬁmnﬂﬁ#
T Y |
= s ¥ Fel
,Q-"BI fid w0 A S W
forart & fem i &
(4 n@ﬁaﬁﬁﬂtﬁimmmmm
£

90, 3 X o o § =i s faoem Y@
fam & | w W sk Finae T
aF % Tore wf ot s Al )
I o AR E S X I
30 mf w, B A B AR Ea A
% & vfven § 40 m g w §, P o
CRIAEMNB I TRH 20 mgh
W Fdam Y W A frwem
R NCcHFiIsmidom
W | P & Wi S WO

fm e ¢

(1) ¥ gim

@ dw
Tt

(4) Te-ufpeEy
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P-1

PART -IV
LANGUAGE -1
ENGLISH

IMPORTANT : Candidates should attempt questions from Part - IV (Q. No. 91-120),
if they have opted for ENGLISH as LANGUAGE - I only.

and answer the questions that follow.
(%1 10 99) ;

'Ihhmﬂmtu-wiﬂha.w};_
resting entirely on the way we decide to play
the game here. Either we continue to use
water irresponsibly, threatening the very
existence of - this planet, or we adopt
sustainable and smart water management
practices to build s water secure future.

By 2050, India's total water demand
will increase by 32 percent from now.
Ingdustrial and domestic sectors will account
for 85 percent of the additional demand.
Over-exploitation of ground-water, fallure
to recharge acquifers and reduction in
catchment capacities due to uncontrolled
urbanisation are all causes of the precari
tilt in the water balance, |

If the present rate of groundwater
persists, India will have only 22 percent of
hwﬂrwgphw.m
In 2050, possibly forcing the country to
import its water,

 Optimists believe that India's people
some L7 billion by 2050, will have

where they manufacture their drinks, food
processing players are engaging with
farmers and upstream actors to minimise
water usage across the supply claim and
luﬂlnhm:nuumthdﬂth:mplnf
sustainable fashion. Companies have
realised the risks emanating from the
possibility of a water-scarce future. This has
triggered companies to  re-engineer
processes, implement water optimizing,
technologies, establish water aundit
standards, and use a collaborative approach
to deal with the water crisis.

91.  The problem of acute water scarcity In
future canmot be dealt with by
companies through

(1) implementing water imizin

technologies e g

(2) discovering a viable substitute for
water,

() re-engineering processes
@) establishing water audit standards

most simllar g m‘gtﬂgmlmh

(1) menacing
() coercing
@) persisting

(4) frightening

—
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mﬂdﬁtMMH
ﬂwuhthmm::rth
m.wlgmﬁnﬂmm?
(1) perceive
(2) achieve
(3 relieve

(4) decrease

04, ldentify the clause in the underlined
part of the following sentence :

He breathed his last in the village
whers be wis born.

(1) Adjective clanse

(2)  Adverb clause

(3) Principal clause

{4) Noun clause

0L, Whlpunﬂlpuﬂhhuﬂedm
word in the following sentence 7

1 do not know why he is so curions
sbout jt.

(1) Noun clause

(2)  Principal clause
(3)  Adverb clause
() Adjective clause

7.

face a Q
6} mmnmm
(2) by 2050, demand for water iy
increase considerably,
(3) ~wedonotuse water responsibly,

4) ground-water level water g
steadily decreasing.

Which of the following will NOT lead
to a severe water imbalance 7

(1) over-exploitation of water.
(2) failure to recharge acquifers,
(3) uncontrolled urbanisation
(4) flawless water infrastructure.

Persistent ground water depletion will

NOT necessitate :

(1)  shutting down of industries

(2) edoption of smat  water
management technologies

(3)  using water judiciously

(4)  import of water

Optimists cannot pin their hope for

better water management on :

(1) reducing demand for water by
u,uuwtactum]lngiﬁ.

(2 discovering new. Ways of
augmﬂlﬁl!wﬂ:rmljf.

(3) mﬂnimmftﬂ'dﬂﬂiﬁﬁ

(4) integrating  water  officient
Fndmhmdﬂib'm
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Q

Directions : Read the extract given below

100.

101.

and answer the that follow
(Q. Nos. 100 to 105) by selecting the
correct/most appropriate options :

All creation drinks with pleasure,
Drinks at Mother Nature's breast;
All the just, and all the evil,
Fﬂlhﬂdmhu-mp.th_

Kisses she bestowed, and grape wine,
Friendship trae, proved e'en In death;
Every worm knows nature's pleasure,
Every cherub meets his God.

Gladly, like the planets fMlylng

True to heaven’s mighty plan,
Brothers, run your course now,
Happy as a knight in victory.

What is the hallmark of a true friend ? m

{1} He helps you to enjoy the fruits of

nature.

(2) H:pmvuh';mcmlndmh.

(3) He can take on all the evils for
you.

(4) He saves you from troubles.

Rosy path is followed by _.

(1) the evil

(2) both just and evil

(3) nfiMier the just nor the evil

(4) the just

(36)

102,

103.

104,

105.

Identify and name the figare u..m;.“
used in “All creation ‘Drinks at
Mother Nature's breast™.

(1)  Simile

(2) Personification

(3)  Alliteration

(4) Metonymy

What does the expression, “Brothers,
rn your course now' mean 7

(1) Don't let failures upset you.

(2) Seek god's help when you are in
difficulty.
Cultivate a positive attitude to life.
Keep on moving towards your
goal.

(3)
(4)

How can we say that God's creatures

are most fortunate and happy 7

(1) They have no friends to share
their joys and sorrows.

They do not have enough
pleasures at their disposal.

They have a benevolent Mother
Namre to look after them.

The world they live in lacks
romance and beauty,

(2)
(3

(4

Which of the following does not
mﬁllﬂﬂﬂlﬂﬂﬂhﬂm’:
love embraces all ?

(1) She bestows kisses on all her
children.

She loves all the just but not all
the evil,

She also blesses us with true
friendship.

All creation drinks at Mother
Nature’s heart.

(2)
(3)

@)
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Practising the cormect
pronunciation of new or
unfamiliar words.

() Chorus reading of the text with

the teacher.

107. In a constructivist classroom langnage

learning would most importantly be
based on :
(1) minute ‘observation dnd record of
. each child's handwriting
development.

{2) cemection of spelling errors and

making sure that they are not
repeated.

(3) carefully completing the langnage

syllabus,

(4) group discussion and peer

interaction,

108. As a language teacher which one of
the following Is most Important for

¥ou regarding teaching of grammar 7
() Avoiding grammar rules.

(@)  Using functional approach.

3)

4

Using  grammar translation

Hm'iﬂisnmrmlm

(37)

109,

i
-

110.

111.

112,

et sbout s e
(1) ﬁM m is the final thing f,,
oy i the e cives
(8)  The 1eKD0OKS are the only souge
0 Lt 4 s

The purpose of diagnostic test
language learning s to

(1) fill the progress repon of studengs

for summative assessment.
(3) lmow the gaps in Jeamners
understanding,

(4) give feedback to the parents in the
PTM:.

The purpose of Continnons

Comprehensive Evaluation (CCE) in

langunage is :

(1) to assess their learning gaps.

(2) to give regular tests ie. weekly
tests,

(3)  to assess the level of competencies
achieved by the childre,

(4) “to  assess the students’
understanding of the textbook.
the
Under which act did Englih g°t
status of the associste oficial language T
(1) Associate Official Languige At
Article-343

(2) Three Language Formul®
(3) National Curriculum F"”“:a
(4) Official Language ACh o
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113. A teacher is appreciating a child for

114,

115,

116.

hisg ‘overall ].m“ nse’, w
some of the words were misspelt by
him. The teacher is using
approach in her clags,

(1) Cﬂmmlm“
(2)  Constructivis
(3)  Whole lu.nm

(4)  Structurs]

Which approach hnllntu'rm .
on habit formation ?

(1)  Communicative approach
(2) Behavicuristic approach
(3)  Ecleetic approach

(4) Cognitive approach "

In the context of ‘theory of maultiple
intelligence’ which one of the
following intelligences is related to
langunage ?

(1) Fluency-Accuracy Intelligence
(2) Linguistic-Verbal Intelligence
(k) }'ﬂﬂﬂjﬂhﬁﬂtmlnmlhgm
(4)  Visual-Spatial Intelligence

Banishing mother tongue In the
elassroom ls the characteristic festure
of method, ' _

(1)  Bi-lingual

(2) Grammar translation

(3)  Natural

(4)  Direct

117,

118.

119.

PI
deals with the level of
meaning in language.
(1) Semantics
(Z) Collocation

(3) Colloguial
(4) Syntax

A Hindi speaking teacher gets posted
in a primary school which Is In the
area of Punjab. Since he doesn’t know
the local language of that area. He
should :

(1) metivate the community to leam
Hindi, as it's a national / official
language.

{(2) communicate in English as it is
difficult for him to understand

their local dialect.
(3) use the child’s language as a
resource and start teaching.
(4) apply for the transfer to a Hindi
speaking area,
While designing a working sctivity for
& langusge class @ teacher should most
importantly focus on ;
(1) E:n,g clear instroctions for the
(2)  providing all the

() sssigning an authentic piece of

(4) m':umhtmﬂh:ﬁmtimm
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PART-V

Pl

v

LANGUAGE -II
ENGLISH ~—

IMPORTANT ; Candidates should atiempl ques

tions from Part ="V (Q. No. 121-150),

ifthnyh:.vnnptbdfﬁl!ﬂﬁl.lﬁﬂ uLﬂGﬂAﬂE-nmlr-

childbirth or infancy. )

The Araku valley' is homé to several
nomadic tribes who live in clusters
ﬂ'ﬂtﬂlﬂhm'lﬂhlﬁﬂ Ry and
insccessible terrain. Until a few years ago
these unitles were unaware of
gw:rnmmthﬂlﬂ:ﬂﬂpulldu.mdum

Today 38 women like Pamila drawn
l'.rmmliflmumF have broken soclal and
provide medicgl.cape to 1179 hax
the A piler’ and"" Chintapall
mandals. they are from these
communities Hiave. been :able create
trust in the and peighbours about

used In'the passage 7
(1) farthest

(2) highest

(3)  tallest

(4) luugh:ﬂ

123. Which one of the following words ls
wmmm‘m’um

in the passage 7
(1) distrust
(2) dismapt
{3) dismantle
(4) disdain

124. He could not clear the exam because
he didn’t work hard.
Identify the clause In the underlined

part of the sentence given above :
(1) Adjective clause
(2) Noun clause

! . (3) Principal clause

1O ) Adverb clause
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;"‘Ij Which part nfth&fﬂlnrwln:m

contains an error ?

The sudden rise and fall of prices
(a) (b)

make a business very uncertain
(€) (d)

(1) ()

(e}
{d)
()

(2)
(3)
(4)

126. The job of the auxiliary nurses is
physically challenging because they :
(1) are not paid any renumeration for

their work.

have to walk through forests and

up mountzsins to reach out to

pecple.

are not liked by the people whom

they want to help.

(2)

(3)

4
local maditionsl healess.

127. The health project launched in the

tribal arcas atms to ; -

(1) raise the living standard in the
tribal areas.

(2) provide nutrition to women and

childgen
provide employment alongwith

education,

prevent deaths during pregnancy
and child birth.

&)

(4)

128, The tribal people trust the health
workers mostly because they :

(1)  are educated and soft-spoken.

(2) help them settle their domestic
disputes.

belong to their own community.
help them get employment,

(3}
(4)

have to face opposition from the .

(45)

%

l

Di'uﬂnm:ﬂﬂﬂﬂufu&uﬁngmpmdu
answer the questions that follow
(Q. No. 129 to 135) by choosing the
correct/most appropriate options :

Kalzen in Japanese means constant
and never ending improvement. There is
no more noble or than
the pursuit of sel-improvement. As
Confucius said many years ago : “Good
pmplc;mthﬂlhmudmmdmdr’*.
Consistent and constant ot in
all areas is essential to reach your true
potentisl. The personal trademark of
almost every high achiever and successful
person Is @ dedication to dally
improvement in both their personal and
professional lives. From Ben Franklin to

Mahatma Gandhi, from Martin Luther
King Jr. to Ivan Lendl and from Nelson

Mandela to Mother Teresa, effective
peoplé do things dally to advance
confidently in the direction of their goals

You must also apply the Kaizen
principle on a daily basis to condition your

mind to peak performance. It has been
sald that the mind Is a terrible master but

a wonderful servant: By seeking to
improve your mind and condition it to
excellence of thought, this wonderful
servant will most certainly bring you all

the peace, prosperity and joy you now
search for.

.~ Study any persom's great success
story and you will undoubtedly learn of
their commitment to Keizen. They will be
dedicated to small, daily improvements In
the key areas of their lives and become the
very best that they could be. Personal
mastery is like a bank account, call i the
Personal  Excellence  Account. By
improving daily, whether it is by spending
some time exercising, reading, visuallzing
or forging better relationships, you are
making regular deposits into your
account. After only ome month, for
example, you will have improved the
richness and quality of your world by at
least 30%.
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Q
129, Mhlﬂhm‘mﬂ:

A. Al  soccessful people are
committed to Kaizen.

B. If we can control our mind, it

(1) Aistroe and B s false.

(3) Both A and B are false.

(4) Aisfalse and B is true.

130. Which word is the most similar in

meaning te the word, ‘trademark’
used in the passage ? B

(1) object
{2) subject
(yr' brand

(4) item

131. Which word is the most opposite in

meaning to the word, ‘wonderful’ as
nsed In the passage 7

(1) deficient
(2) unremarkable
(3) insufficient

(4)~ sepamte

(46)

-

132,

1M,

135.

g

P-1
Which part of the following sentence
contains an error 7

Since time immemorial the Hindus

(a) ()

have been worshipping the river Ganga
{c) (d)

(L) ®)

(2 (&)

@ W

4 @

How, according te the author, can we
attain our full potential ?

(I} by proper and ceasseless
improvement in all arcas.

(Z) by oseeking the advice and
guidance of successful people.

{(3) by working hard on our
weaknesses

(4) by putting in & lot of effort

What is common among the great
people mentioned in para.1 7

{1} They worked hard to alleviate the
suffering of the downirodden.

(2) They tried their best to realise
their goals.
(3) They resisted every temptation.

(4) They inspired all those who came
into contact with them.

Huwdumll:h:lthphwhunﬂ

conditon our minds to do onr best 7
(1) We rise in the estimation of our
friends.

(2) We are gble to overcome all
obstacles,

(3)  We realise our full capability.
(4) We eamn name, fame and wealth.
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of class-IV broaght

140, A teacher e "

them among the students. Then she

uj:l,"l‘nl:rllt"shnuhnmﬂlﬂd

these books for our pleasure”. This

reading is called

(1) Post-reading

(2 ive-reading

13) Extensive-reading

(4) Prereading

141, A 2% year old child picks up his
gbling’s book and looking at the
pmnmullultory.'lhuuﬂh
(1) emergent student
(2) emergent reader
(3) emergent story writer
(4) emergent writer

142. A teacher of class-Il1 finds that some

(4) auditory

B8 145, A teacher asks the students to read the

text for information and create their
own [nterpretation beyond the Hteral
level, Which subskill s she

practicising in the class 7
(1) Predicting
(2) Inferring
(3) Summarising _"
(4)  Paraphrasing '

144. Story telling and listening to storles
play an important role because stories
(1) use many structures of grammar

and help children to learn them.
(2)  present language as a whole,
(3) help the teacher to maintain
classroom discipline.
(4) help to teach and leam new and
difficult words.
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(2)  Activate  students’ previous
knowledge

(3)  Assess students’ level of language
and its usage,

(4)

147. A student of class-V
chapter finds mmﬂmt'n‘[n:
mﬂhmmhmmhﬁ

(1)  ignore i
i W‘hl“hﬂwmﬂuﬂkwp

syllabus. She should

(1) npot teach the complex g
and avoid it

(2)

(3)

@) ask swdents 1o m,.,--,,: the

() Itis diffcul 1 teach Engiish a
; m“l’mﬁll:irﬁritlm.guq:in

(2)
give a list of English words on the
very first day.
Children come to school with g
treasure of experience and their
mother tongue acts like a resource
in learning English.

Children's first language is &
burdle in learning English.

@)

(4)
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